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PART—A
SPOTTING ERRORS

Directions : In this section, each question has a sentence with three underlined parts
labeled fa), b} and fc. Read each sentence to find out whether thers is_any Error in any
underlined part and indicate your response in the Angwer Shest against the corresponding
letter, i.e., fa)or B or (o). If you find ‘No error’, your response should be indicated as [d).

L. It was nearly thirty years ago, since this magazine  was first published. Noermror
fa) (L] fef {d)

2. Ten years ago he was having an inconfe  of over ten thousand rupees a month;
{a) fbi

he must indeed be a wealthy man by how. No error
fei e

3. In spite of the fact that the meeting was about to end,
faf

he insisted to ask seversl questions. |No error
fic fd)

4. Hardly had he entered into the room | and taken his seat,
{ai ik}

when the girls began to giggle, Mo error
i) {d)

B-OEBB-N-HBS /59A 2
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5. | was disappointed whent | came for seeing you last evening

a) b

but could not find you at home. No error

fc} 1]

6. The number of jobs that would be satisfactory in all respects  are amall.
) ity il

Mo error
fcd)

7. | have found the man whom [ know  is the thisf, No error
ja} {b) iz} e}

8. There is no reason  why he should not come  since he is in town and is free.
fa) (B} fc]

No error
fd)

©. It is high time we cried a halt to the existng corrupt practices
ia) i

followed in the educational sphere.  No érror
ici {edf

10. The situation is perilous  but if we are prepared promptly to act,

fa &)
there iz still one chance of escape. No error
icl {4)
B-OEBB-N-HBS/5%9A a [P.T. O
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SYNONYMS

+ 10

Directions : In this section, you find a number of sentences, parts of which are underlined,
For cach underlined part, four words are listed below. Chosse the word nearest in meaning
to the underlined part and indicate your response in the Answer Sheet,

11.

12.

We should always try to maintain
and promote communal amity.

fa) bondage

(B} contention

fo) friendahip

fef understanding

Many species of animals  have
become  extingt during the last
hundred years,

faj apgreasive

fb) non-existent

fof scattered

fd] feeble

B-OEBE-N-HES /59A

13.

14.

True religion does not require one to
proselytise through guile or force.

fa) translate

{B)  hyprotize

fe}  attack

fd) convert

That the plan is both inhuman and
preposterous needs no further proof.

fa) heartless

fb) impractical

fel  absurd

{di abnormal
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15. The attitude of the Western countries 18. Whatever opinion he gives is sane,
towards the third-world countries is
rather callous to say the least.

fa) “tational
i s {k obscure
fb)  unkind
fei  wild
fe} cursed
' (d} arrogant
{d] unfecling

19. The story iz too fantastic to be
16. Whatever the verdict of history may credible.
be, Chaplin will cecupy a unigue SEEESS
place in its pages.

fa) believable
(@) judgment
b} felze
fb)  woice
fc) readable
fe]  outcome
{d] praisewornthy
fd} prediction
20. Catching snakes can be hazardous
17. He corroborated the statement of his for people untrained in et
brather
fa} tric
fal confirmed o) tricky
b disproved b} harmful
fo)  condemned fe)  difficult
{dj scconded {d] danperous

B-OEEE-N-HES/59A 8 [P T. O
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ANTONYMS

Directions : In this section, each item consists of a sentence with an underlined word, It is
followed by four words, one of which is closest to the opposite in meaning of the underlined
word. Choose the word and indicate your response in the Answer Sheet,

21. Hizs short but pointed speech was 23. A friendly dog met wus at the
applauded by all sectionz of the farm gate.
audience.
fa)  helpful
fa) disapproved

b} misunderstood ib) understanding

fe] praised fe) quiet

) welcomed {dl Thostile

22. In ancient India, scholars had no

interest in politieal power or matedal 24, He is extremely intelligent but proud,
growth.
ja) dull
fa) internal
: B weak
ibj  spirituat
foj  paychic fe} ignorant
fd} celestial {di arrogamnt
B-OEBB-M-HES/594 ]



www.sarkariresults.io

25. The young leader was reluctant to 28. Adversity teaches man to be humble
i shoulder the responsaibilities of the and self-reliant.
ministerial office. i
. fa} Sincerity
fa) wanting
(B} Animosity
b} willing
fe}  Curlosity
o) Aanxious
{d} Presperity
{d} ecager
29. Like poverty, affluence  can
26. He abandoned his family. sometimes create its own problems.
fa} suppored fa) indigence
fb encouraged b opulence
fc} pleased fe] sorrow
fef sawved . fd] exuberance
27. History abounds in instances of 30. The habit of squandering money
COUTAEE. should mot be encouraged.
fa} shines ju) discarding
b lacks {b) hoarding
fe)  sulfices fc) donating
fdj fails {d) stealing
B-OEEB-N-HBS/B9A T {B.T.C.
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SELECTING WORDS

ic

Directions : In this section, each of the following sentences has a blank space and four
words are given after the sentence. Select whichever word you consider the most appropriate
for the blank space and indicate your response on the Answer Sheet.

31. You havent had wyour lunch yet,

az.

— you?

fa) are

(B} arent

fc] have

fd] haven't

Life is to death as pleasure is to ——,

{o}  poverty

fbj  suffering

fe!  anguish

fd) pain

B-OEBE-N~-HES /594

33. The French —— reputed o have &
very good sense of humour.

fai

ft)

e}

was

will be

34. Flease’ and “Thank you’ are the little
courtesies by which we kesp the —
of life oiled and running smoothly.

fea)

(b)

fe)

{d)

path

machine

garden

river
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35. Many of the advances of civilization

36.

aT.

have been conceived by voung people
just on the —— of adulthood.

faj boundary
b  threshold
fe) peak

fd} horizon

The more your action and thought
are allied and —, the happier you
grow.

fu) divergent
B unraveled
fe} integrated

fd} invincible

He = in wearing the old-fashioned
coat in spite of his wife's disapproval.
fa) insists

{b] persists

fc} desists

fed} resists

B-0OEBB-N-HBS/594A

38,

39,

It iz not what you say that —, but
what yvou do.

fa) matches
fb)  implies
fc)  matters
fd} moves
Physically we are now  all

neighbours, but psychologically we
are — to each other,

fa} primitives
B complementary

fc]  strangers

cowards

{d)

The old Mature' versus —— debate
regarding crime continues  even
today.

fm) ‘Man’
& “Universe'
fej ‘Culture’

Murture'

{el}

[P.T. O.
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SENTENCE IMPROVEMENT

Directions : In thiz section, look at the underlined part of each sentence. Below
each sentence are given three possible substitutions for the underlined part. If one of them,
i.e., fah (& or fo! is better than the underlined part, indicate your response on the
Answer Sheet against the corresponding letter faj, (b) or f¢) If none of the substitubions
improves the sentence, indicate (d) as your response on the Answer Sheet. Thus a
Mo improvement' responzse will be signified by the letter (d),

41. As the parties failed to reach any 43, My [mend met me, unexpectediy,
agreement, the meecting broke when | leoked for a taxi, desperately.
th.tuu&t:_

fa} had looked
fa) broke out

b leoli
B broke away () s ooleing

g} broke up . e oo Tuaking
fd] Mo improverment fd) No improvement
42, If [ have reached there by this time 44. Her learning makes up towards her
tomorrow, [ will write ta you want of beauty.
immediately.
fa) reached o
o) reach i
f} am reaching fc} against
fd] Mo improvemeant fdl No improvemernt

B-0EBB-N-HBS/594 10
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45. If he got his enemy in his hand, he

47.

would have crushed him to death,
fe} has got

bl was El.ming

fej had got

fd} No improvement

Flease ask your son to turn ﬂ the
radie so that it iz not quite ag loud.
fa] in

{b} back

fe down

jd} Wo improvement

He said that when | have worked for
him for gix months [ would get a pay
Tise.

fa) had worked
{bj have had worked

fcl  did work

fd) Mo improvement

B-OEBB-N-HBS/59A 11

48. | am looking forward to joining your
organization,

fa) join
B join in
fe}  having joined

jd} HNo improvement

49. | am not sure why she is wanting
to see him.

faj she wants
(B! is she wanting
fg} she want

{d) HNo improvement

50. Everybody who finished writing can
go home.

fa) had finished
(B} have finished
{e) has fnished

(d] Mo improvement

[P.T. 0.




www.sarkariresults.

‘PART—B

Directions :

The following seven (7] items consist of two
statements, Statement [ and Statement L
You are to examine these two statements
carefully and select the answers to these
items using the code given below :

Code :

fa) Bath the statements are
indvidually true and
Staterment I is the correct
explanation of Statement [

fb) Both the statements are
individually true but

Statement 1I is rot the correct
explanation of Statement [

{c/ Statement 1 is true but
Statement II is false
{d] Statement | iz  false bBbut
Statement [ is true
Bl. Statement [ :
Grand Banks are one of the major
fishing grounds of the world due to
the presence of a vast continental
shelf.

Starement 11 : )
Planktons grow in the shallow
walers.

52, Statement | :
Amocba iz a unicellular organism
and the single cell performs all
functions of a living organism,

Statement II :

Cell 15 the fundamental wnit of
living organiam.

B-OEBE-N-HBS/594

]

12

53.

585.

10

Statement | :

The first coins to bear the names
and images of rulers were issued
by the Kushanas,

Statement I :

The first gold coins were issued by
the Kushanas.

Statement 1 :
Jahandar Shah's reign came to an
early end in .{HIILIHI].I’ 1713.
' Statement 11 : -
He was defeated at Agra by
Farrukhsivar, his nephew,
Statement | :
The defects of the Regulating Act
and the exigencies of Dritish
politics necessitated the passing of
the Pitt's India Act
Statement 1T :
The Pitt's India Act gave  the
British Government  supreme
control over the Company's affairs
and its administration in India.
Statement [

[t 15 not necessary that every bar
magnet has one North Pole and
one South Pole.

Statement II :

Magnetic poles ocour in pair.
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v for refersnce. It May wvary the Original.
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EY. Statement I :

A body moving in a cirgular path
iz acted upon by the centripetal
force,

Statement 11 :
Centripetal force acting on the
body i3 deing work to keep it
rotating in the circular path.

60. Heat given to a body which raizes its

temperature by 1 °C i3 known as
fa} water eguivalent

fb) thermal capacity

fe)  specihic ht,at_

{d} temperature gradient

EB. Which of the following statements

isfare correct? 61, Consider the following reaction :

1. The tropical cyclones of China
Sea are called typhoons.

2. The tropical cyclones of the

XAERSy + YOy = 2A8,04 + WED,

West  Indies are  called What iz y [the coefficient for Og)
tornadoes. when this equation is balanced
3. The tropical cyclones of using whole number coefficients?
Australia are called willy-
willies,
) faj 5
4. Formation of an anticyclone
results in  stormy weather
condition. [/
Select the correct answer using the
code given below, gl @
fm) 1,2, 3 and 4 .
fef 11

b 1, 2 and 4 only

fef 1 and 3 only

62. Growth and repair of damaged tissue

{d} 3 only aiin

59. Which one of the following iz not

an ABEAN ikt acm fa) mitotic cell division only

both mitotic and meiotic cell
divisions

fa) Cambodia i
b} Laos

fe) Myanmar fe}  meiotic cell division only
{d} Taiwan fd) amitotic cell divizion only

B-OEBB-N-HBES/59A i4
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1. =/ wrw % sornkEdn swmant st :
TR F 61, Frefafr sffen w feEm fifm
2. ?ﬁéwm EZAS,84 + Y0y = ZAS,0, +WED,
|
3. e & Tt wwE W T T W F O e I
Forefi-forefin =6 %1 ﬁ_ﬂﬂ%ﬂ*ﬁﬂf m 8, Ay (0, W
4, yhrowam woEe & g ) =0 &
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Gaeil Ll .
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T b 7
fea) 1.2..33“1.'4 el o
' n
B ¥Em 1, 2aws Pl
fe) e 1 a3
Fad 3
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e #7
g9, Fefifigs & 4 F9-w 5 ASEAN W
w8 fa) e oft Wit fnmem
i
al o) Tt +iv sbeph TR Feer A
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felp AEEH fel} e amphh iR faame

B-OEBB-N-HES/59A 186 . . Ry )
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63. Fotterdam of Netherlands is largely

famous for
fa) textiles
i) dairying
fe/ shipbuilding

fd] paper industry

64, [f the motion of an object Is

represented by a  straight line

parallel to the time axis In a
distance-time graph, then the
object undergoes

fa} an accelerated motion
{b} a decelerated motion

fc) a uniform non-zero  velocity
muetion

fd} a zero velocity motion

65, How many grams of MgCO, contain
2400 g of oxygen? (The malar mass
of MgCOy is 8430 g mol™!)

fa] 4215 g
(B} 8430 g
fo) 12600 g

fd] 15400 g

B-OEBBE-N-HES/59A
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66. Which one of the following is net a

function of liver?

fa} Conversion of glucose into
ghrcogen

{b) Production of urea

fe) Destruction of dead and worn-
out red blood cells

{d} Absorption of food and excess
water from the undigested food

67. Which one of the following iz the

correct  sequence of economic
sectors in  terms of  their
contribution to the GDP of India
in decreasing order?

fa) Service—Industey—Agriculture
fb)  Agriculture—~industry—Service
fe} Industry—Service—Agriculture
id)  Agriculture—Service—=Industry

-—h
68. A force F, acting on an electric

charge g, in presence of an electro-

magnetic field, moves the charge

paralle]l to the magnetic fGeld with
velocity U. Then Fis equal to (where
E and E are electric field and
magnetic field respectively)

fo) qE
® g x5
f) af®xE)

[d) qF
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/63, FrETeras W fzdn s F 66, F=fafgs @ @ #R-9 TF TFR T

wierg ¥f T &7
- ] TR W ETsERE s
{b) T R TAEA
ST
i ff T w sa B TH ww WK
& o fi Fifrmad w1 fam
() @ w adh awld yER A A m
(d] wETR T snfirrn 0 arawimm

67. Ffafan # & #R-m us, sofifs st

64. T i fvg £ 12 R gf-ww I # =, WWA % GDP # 0% 9 % sun
HUG-ME ¥ T OB W F EW A o, w2 W § W e 7
Tawfim farm e &, A P @ o &9
fa) s
fa) il ) FRE~—Tm—dE
) AR (o) FEF—dT—F
W3
(e} e TR 3 Ry 9
{d) TEm Am e8. firh fem-gradm da St iR & o
firgga, JA g W FHE T w9 F, wEW
T grEEE 83 E WO o o9 # T
F P (E o B
-, - 3 gudly & e w1 7 F s s A (B
i m:cc::}: 6o gl o o, @ ot g 8w B)
§4-30 g mol ! &) @ qF
fa] 4215 g 5
B giFx5
Bl 8430 g
fe) qExE)
fe} 12600 g
fdl 15400 g [d qB

E-OEBB-N-HBES/59A 17 : [B.T O,
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69. What iz the oxidizing agent in the T3. Which one of the following
following equation? substances is most likely 1o be used

rl
HASO, {ag) + 302" fag) + H* (ag) — as soap?
Asfg)+8n"* fag)+ HO (1) fa) CHy(CHa),; COOCH,
{) CHy3(CHy)sOCH,) s CHy

fa) HAsO, fag) fc) CHy[CHg) 5 COONa
) Sn** (aq) (d) CH4{CH,);;CHCl,
fl H* fag) T4. Which one of the following animals
is cold-biooded?
fd} Sn** g ja} Dalghin
{b) Shark
T0. Which one of the ﬂ:‘“ﬂ\'ﬂlﬂg i5 not a {ei  Whale
part of fermale reproductive system? i
(d} Porpoise
fa} Fallopian tube
; T8. Match List~l with List-Il and select
{bj Cervix the correct answer using the code
jc) Urethra given below the Lists :
fd} Vagina List={ Ligt-I]
{Gengraphical (Tupe of geographic
71. If a news iz broadcast from Londen feature| process)
at 1:45 p.m. on Monday, at what A, Cirgue 1. Erosional feature
time and on what day it will be of wind
hieard at Dhaloa 1907 §42 B. Yardang 2. Depositional
fa) T:45 p.m. on Monday feature of glacier

C. Barkhan 3. Depositional

{b} T:45 am. on Monday Rt LB vateid

fe} 7:45 pm. on Tuesday D. Drumlin 4. Erosional feature
fd) 7:45 am. on Sunday of glacier
Code :

T2. Which of the following are the fai A B c D
correct parameters for the common 4 1 3 2
domestic power supply in India?

Bl A B © D

fa) 220 V, 110 Hz 4 3 1
{B} 220 V, 50 Hz i A B © D
fgf 110 WV, 220 Hz 4 . : !
’ fdf A B C D

fd) 110 v, 50 H:z 2 1 3 4

B OEBB-N-HES/S9A 18
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69, Ffaf gt & sramrs = 87

HAsO,lag) +5n?* fag) + H* jag)—
As e+ 50t jag +Ho O

fa) HAsQ, (ag)
i 8n?t fag
fel H* faq)

fdl sn** jag)

70, iefifm d A s mw @ F7-T =

um o BE

(e Seifiom w@
(&) afar-gn
fc) ¥

(d) @R

71, 7R =a 8 e E 145 99 wyE §

oF guEm vt Bem oaen ¥, @ e
[@0r £) 5§ 38 e ® ol G v g
=

fa) HWEE 7:45 92 AWH
fb) HTER 7:45 =3 EIE
fe)  WTEARW 745 TH HWH
fdj TEER 745 €9 @

72, vAE # W wE R oww o# fam

Frefirfim 1§ & #=-8 waw ol §
faj 220V, 110 Hz

B} 220V, 50 Hz

el 110 ¥, 220 H=z

[d 110 V, 50 Hz

B-OEBB-N-HB3 /594

19

T3,

T4.

75,

frafirfiam 3 & FR-m wod g7 & =9 9
wye Trn = & fom il weata 37
{aj CHgzICHg),COOCH,

{B) CH3ICHL)sXCH )5 CH4
fe) CH,ICH,),COONa
{d] CHyiCH, )z CHCL,

Trfafias @ & SR-m O Tl sEmar
34

ja) EfEla
b) T
fe} &
fd) H=
-1 ® o # gatw St o
yiwd & A Ry g W o s
mqﬁn;:
-1 weft-11

(viirfen { it wiiwan
FHW) w1 TER)
A T 1. a7 S T
B gmem 2. fire & R wm
C. wwmm 3. = ¥ P mam
D. grieR 4. fivdR & SRt e
L
faj & B € D

4 1 3 2
A B € D

4 3 1 2z
d &4 B € D

2 3 1 4
i A B © D

2 1 3 &

1B T.O.

the original.
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T6. A ray of light travels from a medium T9. A topographical map with seale
of refractive index m, to a medium 1 : 50000 indicates 1 cm to
of refractive index ng. If angle of
incidence is [ and angle of refraction

fa) 50 km
isr, mmﬁmequﬂ Lo
SinF
{B) 500 m
) m
fe) 50 m
B Ay
{dl 5 km
W 2
ny
80. Light waves projected on oil surface
ny show seven colours due to the
{d) phenomenon of
iy
fa) polarization

T7. A sample of gas is to be identified
by means of its behaviour in the
presence of a glowing splint. Which
of the following grses will neither

(B} refraction

itself burn nor cause the splint to fe)  reflection
burn?
{d} interference
{a) Oxygen
{B} Nitrogen
Bl. A monatomic species that has
fe  Hydrogen 18 clectrons and a net charge of
2% has
fdf Methane

fa} the same number of electrons

T8. Leprosy is caused by as a neuiral argon atom

fal wvirus
(B} more protons than electrons
b bacteria
fe) protozoa fg) 2 unpaired clectrons
fd} retrovirus fdl 20 protons

B-OEBE-N-HBS/59A 20
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76. TEW F  FE o S ¥ 0w 79. 1:50000 WOET AN CUFE  REETERE

W # on, FUEE & OUE AW AR 1 om R b B

=t B1 Ak s Fw i et e

ﬁrqrz.?h:;z:mimt? fa) 50 km

fa) ry b 500 m

b ny & fo 50 m
: o —2 : a i e

ﬂi
w g0. Feh i v m nEfm v A wm
iz = fobm wfiEe & FAw gwid Bf
faj g

77. et o % ww A W, e fEem R

afefy #, ¥ STEm ¥ amm wm ) v B

mgar e B Eofafm 4 8 @

peE b ks R Arsh Tkl :

w i o

fa) A fd) sl

fb) v

fe) EEERA 81, B wwenRys ofvfa 8, Rl s

@ e Toe & o = o ¥, Rrowa R
: : foj TH watar srR owem F fae
78. FE fk w37 gEw wEn

fa) ey ) S @ i S

{b) ey '

o} ERETEEn e} 237 e

"fd) e fd) 20 9=t
B-OEBB-N-HBS/59A 21 [P To0h

o wary the Original.
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82, Which one among the following is a BG6. Which of the [ollowing groups of
plant hormone? plants can be used as indicators of
505 pollution of air?
fa) Imsulin
faj Ferns
b Th i
il T, ) Mentha
foj  Gibberallin fe] Lichens
jd} Estrogen {4 Hormworts
83. Quartzite is metamorphosed from 87. The permanent wind that blows from
the horae latitude to the equatorial
fa} limestone region is known as
{B} phlutonic rock fa) westerly
(b} trade wind
() sandstone i
fe) doldrum
{d} shale
fd} easterly

84, Which one of the following processes
explains the splitting of a beam of
white light into its constituent

88. Two bodies A and B having masses
m and 4m respectively are moving
with egual linear momentum. The

colours? ratio of kinetic energies between
6} Dispersion Aand Bis
f& 1:4
{b) Reflection
B 4:1
o) Diffractio
E  Difaction © 1:1
{ed} Polarization g 1:2
85, The very high heat of vaporization of B9, Optical pglass used in  the
wiater is mainly a result of construction of spectacles is made
by .
fal wan der Waals forces
fa) flint glase
al bond
[Py seepalet 3 fB) Crookes glass
fcl interionic attraction fe} quartz glass

fd} hydrogen bonding fd) hard glasa

B-OEBB-N-HES/B9A 2
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g2, F=fafigs 9 @ ¥9-m v T=y 790 3 86, Prefuftn & & aew yweemp A @
S0, % I % g f T e 9
fa) TEf Y
fb) wrTE @)
fol, Pk o)
{d} TR fef wmEE
fd) e
83, WiFng Fefafas # 8 s Faeam
L 87. ¥id waim A fygEw ww f A e
faj F-ge TRy BT W W e T
b Taema 9m fa) TE
o} W W fb) = T
fd) @ fe) iR

fdy e =
84, 7 =W F = O ¥ s 2w
gl § fammm = fsfafiae § 4 29-0 8. FOY: m 3N 4m TEE % A iy A s

T Wi T A7 B twEwE wEm wam 8 e § o4 ai
- B % s vfim sisi = g b
% faj 1:4
fbj 4:1
Ecntl
i fg 1:1
f4) ¥ o132

85. & % arEq it aEYE W I e

¥ 89. I7 999 § wam Bem wd awen e

i TR w7
faj =FEAEH T ‘o) T W
(b} EEEERT S b) T F
fe) - ST fe) wHiew (wiw) wlw
d} TrEER s jd) g wia
B-OEBB-MN-HBS/59A 23 o T | P T ACrs
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90, Which one of the following cell 93. The burning sensation of a beesting
organelles is absent in animal cell? can be stopped by rubbing the
affected area with soap. This is

fa) Cell membrane because
{b) Endoplasmic reticulum fa) & beesting is acidic and soap,

an alkali, neutralizes it

Cell wall
fe} Cell w {bl & beesting is alkaline and soap,

(d} Mitochendria an acid, neuatralizes it

o) zoap cleans the affected area
and removes the sting

: {d}  scap acts as an anesthetic and
%1. Which one of the following is a warm dulls ‘the ssnestion

otean current?

94. Consgider the following statements :
1. Carbohydrates are the only

fa! Labrador current

(Bl Kuroshio current source of energy to humans,
2. Fats give maximum energy on
fe)  Peru current oxidation as compared to other
foods.

fd} Benguela current
Which of the atatements given
ahove isfare correct?

92, A force applied en a body is R a0l

represented as B 2 only
3.:&:-5}__‘10& fc) Both 1 and 2

fd) Meither 1 nor 2

and accelerates it at | mj:-i, The

mass of the body is 95. The place located at the confluence
of Alakmanda and Bhagirathi rivers
is '

(al 10 kg
fa) Badrinath

bl 1043

() & (b Rishikesh

fe) 2410 kg fo} Rudraprayag

(d) 8 kg ' (d) Devprayag

B-OEEB-N-HBS/59A 24
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g0, Fmfufm § @ =W = SfEEn oo

93, yol ¥ TN @ A T wee, wafa dn w

Fifi & wEicm g b oA ¥ T, oW wwdt B g
] e BT
fay s fa) wmr = EW s g R e TR,
fb)  FeEeT = T AW, 3 =
{b) W T EM ERE # E SR aE,
fo) it Tirf o e, TR ek R
fe) wrEgA WA 49 W oWrE w2
&R sty a1 P A 3
fd) T T g e W W s E
091, Frefufas § 8 ¥9-8@ o S sy S FaEA W A o d
T B
fa) . S o4, Freafafg wu o fem i
|, wEERL ugE ok R @ a@
fb) T SRR wrm E R
2, = # e aE, I BN
fc} U T ot it Sl &1 E
jd) R e o et W F-m A A
fa) ¥4 1
92, 75 firg W TN ™ A= (b w2
Fa6l-8)+ 10f i 2 0

fd) AT LA AE2
g fr=im fmm o &, 7 3@ 1mje?

3 vafm = $1 five w7 ro @ 95. sewTE o iR R ¥ W oW
FA-m T aaiEm &

fe) 10 kg

o {a} HHAY

b 1 kg
{b)

fo) 2410 kg (e T

idl B kg id)

B-JEBB-N-HBS/594A 25 |P. T 0.
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@6. Light waves are

fa) electro-mechanical waves

fb)  electro-magnetic waves

fc}  electro-optical waves

{d} magneto-optical waves

97, A sample of carbon dioxide that

undergoes a transformation from
solid to liguid and then 1o gos
would undergo

fal & change in mass

{b} & change in density

fe) a change in composition

fd) no change in
properties

phyaical

98, Which one of the following pairs

of power projects is nef correctly
matched?

fe} Fapanasam—Hydropower

fb) Neyveli—Hydropower

fe)  Ukai—Thermal power

fd} Rana Pratap Sagar—Hydro-
power

B-OEBE-N-HBS/S9A

99, A particle is moving in a circular

fc)

100. Which of the following

o A

path of radius r at a constant
speed 1 Which one of the following

graphs correctly represents s
acceleration a?
1 3
ibj
—m—— T r

-

element
combinations  will form  ionic
compounds?

1. Ca (Z=20)and Ti (£ =27
2. &i(Z= 14} and Br (Z = 35)

3. Mg (2= 12} and Cl{Z= 17}
Select the correct answer using the
code given below,

fal 2 only
fb) 3 only
fe 2 and 3 only

fd) 1,2 and 3

101. In the term GIS, ‘G stands for

fa) Global
fb)  Geographic
fe) Goodness

fd} Geological
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96, T 01§ 99, FiE ¥, TEEEE @ ¢ | B or & o

garen Ty A nfieer @) Prefefie 4 4

fa) ﬁm-mﬁﬁmmﬁ - U W Ik E o #® O
Ty = 37

) T -y awi as a

_ fa) (&)
(o Frp-wits ot EE— z
(d) gradm-wmita T

a4 €
fef J {d} 1
97. 30 § T am T\ 9 w4 wewiE 0 e r

AW FEA ERAMWGE F A A W

o S 100. W w/% Br-m/d R T A
T T
fe) sk 1. Ca(Z=2003W Ti(Z =29
Gi R 2. 5i(Z = 14} 09 Br (£ = 35
3. MgiZ=12WmCl(Z=17
) HEr A 9 fm om g W owEm oW R T
12|
fel) it ol # = whEe @ 2
b} AW 3
9g. Wi gimensi & fefefen g # @ fo} S 2 ol 3
F-H O 96 gt off B @ 1,233
a 101. GIs ™= # ‘G fem o % T 1
w (b Eif—mermie fa) TR
fe) TRE—maaE k
fe) TR
jd) T ERTY W —AEEE fel) Foriraiima
B-OEBB-N-HES/59A 27 |P.T.0
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102, A thermodynamic process where
no heat is exchanged with the

i C surroundings is

fa) isothermal
fb) adiabatic
fe} isobaric
fell isotropic

103. A compound X0, containg 31-58%

oxygen by weight, The atomic mass
of X ig

-fa] 3466 g mol™!
bl 4501 g mel™!
fe} 5200 g mol™!
{d 104-00 g mol™"

104, Which one of the following is the
correct sequence of oil refineries in
India in respect of their time of

establishment (starting from the
earliest]?

fa) Barauni—Haldia
—Guwahati—Mathura

b} Barauni—Mathura
—Guwahati—Haldia

e} Guwahati—Haldia
=Mathura—Barauni

Guwahati—Barauni
—Haldia—Mathura

fa

105. Which one of the following circuit
elements is an active component?

fal
i
fel
id}

Resistor
Transistor
Inductor

Capacitor

B«OEBEB-N-HES /594

1 The Information

28

Provided here is only

ESULLE.10

106. Which one among the following
contains the most neutrons?

fa) 33Fe

M) f5Cu

fel g,;Zn.

{d) ggzn'l-;

L.
107. Movements of tides are mostly
determined by

fal albedo effect

fb) wind velocity

fej rotation of the Earth

jdj revolution of the Earth

108. Fahrenheit and Celsius are the two
scales used for  measuring
temperature, If the numerical value
of a temperature recorded in both
the scales is found to be same, what
is the temperatures?
faj -40°

b} +a0°

jo) .+ 720

id) =72°

for reference. It BMay

vary the Original.
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102. ==mias ofien, Pl ofdw & w6

. P i @ foe w2 0 &

== T @ g, =0 weadt 87
{a) T fa) SgFe
=il

i) ) 55Cu

fc) FREE

(a) e e} §zn
103, T MiF X,0, § M & wmm m fd) S52Zn?*

31-58% el B X %1 g e

= A

fa) 3466 g mol™ 107. ==rl % Heed i Rk g i

b 4501 g mal™! o &7
{e} 5200 g mot™! o) Y e
dl 10400 g mol ™ .
b A
104, wig § desies Foam = Rl §
B FH-T T ALHA, IAh ET W & G LA 4
= A B (TR A e T
id} ﬂ@ﬁm

fa) I —aEn—TETEE—a
() T —fr
e TETEEA—EERm—r—a i
fd)} TEEE—AH—T e —ay

108, wiAeEz o #fFwm, T S ow =S
amtat §1 fEdt am o= B Benoma
sz A At 2wl § T,
ol 5 A o R

108, Freoffian oo sEEt & 9 #e-w o,

o BiFEg wZE Bt fa) —a0*
fa) WIS b +40°
by i
fe) A
fcf) wEIG fd) -72°
[ Prco!
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109. Turpentine ¢il in paints is used as a

fa) pigment

fb)  f[lm-forming material

fe)  thinner

{c} drier

110, Match List-I1 with List-11 and select
the correct answer using the code
given below the Lists :

Listf
[Textile industry)

Woolen textile
Cotton textile

Silk textile

Do w

Jute textile

Code :

fa) A B c

B A B c
4

£t A B ¢

2 &4 1
i A B C
3 1 4

B-OEBB-N-HBS/59A

—

WK

Lo~

List-IT
{Placef

Sualkuchi
Rishra

Devangerse

111. Kerosene oil rises in & wick of lantern

because of

fa) buoyancy of air

b} dﬁfua'wn of the oil through the
wick

fe) capillary action in the wick

{d} gravitational pull of the wick

112, If the reaction of 10 mol NH, {g) and
10 mol Oy (g

ANH, (g) + 50, [g) — 4NO ig) + 6H,O (1)

is carried to completion, then

fa
B
‘ )
fd)

all the Oy (g} is consumed
40 mol NO (g] is produced
1-5 mol HyO (1) is produced

all the NHy (g is consumed

113. Which of the following sequences is
correct for rainfall?

fa)

&

fel

fd)

Slow ascent of air — slow
condensation — heavy
downpour

Rapid ascent of air — large
raindrops — heavy downpour

Pressure  decreased —  &ir
compressed — heavy
downpour

Descent af air — air warmed —
heavy downpour



109. i i andE i B v wge o b

jaj T
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(b T = A

fc) T

fd} FFE

110. =1 F g0 & mkw fifn ode

g % M T e g2 = w5 ad
o g
i1 -1
(= T ()
A. TR 1. gy
B. i = 2. =
C. e 79 3. it
D, AR 4, EEWH
T
@ A B C D
3.4 1 2
M a B © D
2 1 da, 3
i A B C D
2 ks 1 3
gl A B C D
3 1 4 2
B-OEBB-N-HES/ 594

111, = it =4 § Wl dw e T
= Fam B

fia) a7y ) TETEET
) =T A e A W
fo) = FEE
(d) Tf ) e

112, 9 10 mol Nﬁs & ¥ 10 mol
Dg [g}ﬁ m

4NH (g) + 50y (g —4NO (g) + 6HL0 ()
A i o W T e, @

fa) Frﬂog{;:mgmﬁmg

M 40 mol NO {g) Irmiea gt #
fc) 15 mol HyO() seita 8 &
{d) W NH, (o) 3995 & e }

113, Tof & w=y # Fefale 4 2 9w
argEa W ¥?

fa) AW T T AR - i g
— WY T

fb) 9 e e — gEg wi-fg
— vl s

fc) w1 pa =g W — wefiiEm oAy
—» WTH TEEETAT =

fd} A | FEEM - O v
HETR T

a1 ; o SR % (e ¥

v for refersnce. It May wvary the Original.
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114. The working of a microwave oven

involves

{oj absorption of microwaves by
matter

{bf  reception of microwaves by
aptical fibre

fc)  microwave amplification by
stimulated Emission of
radiation

{d} transmission of microwaves
through & metal

115. What would be the total population

at the end of the vear if population
at the beginning of the year is 5000
and population changed during the
year is—birth 250, death 60,
immigration 30 and emigration 137

fal 5205
fb) 5235
fe) 5310
fd) 5180

116. Two cars A and & have masses

m, and mpg respectively, with
M, > mg. Both the cars are moving
in the same direction with egqual
kinetic energy. If equal braking
force is applisd on both, then befars
coming to rest

fa} Awill cover a greater distance
fb}  Bwill cover a greater distance

fe} oth  will cover the same
distance

fdf distance covered by them will
depend  on  their respective
velocities

BE-OEBE-N-HBS/59A

io

117. If the length of the Equater is about

4006 km and the welocity of
rotation is about 1700 km per
hour, what would be the wvelocity
of ratation at the Pale?

fa) Zero

o) 850 km/hr

fef 1700 kmfhr

{d) 3400 km/hr

118. A bullet is fired vertically up from a

400 m tall tower with a speed
BO m/s. I g is taken as 10 m/s?,
the time taken by the bullet to
reach the ground will be

fa) B s
M 16 s
fc} 20s

fdj 24 s

119. A cyclotron accelerates particles of

mass m and charge q. The energy of
particles emerging is proportional
to

fab g% jm
b q/m?
fel g% jm?

idi g
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114, gew T 3R F 59 = § 70 omia
Er B

fa) wer gAT W W w1 e
fb) WA dg E R A T

fe) TafEm ¥ Ffm seEE Im g
| N T

fel) g & A g gea o W EE

115, 7 & 3 # g wweem Fead o, oft
T % sy # sien 5000 @ oo &
A B e SfEdd—aw 250,
T 60, AT 30 AR A 15 37

fa) 5205
) 5235
¢ 5310

{dj 5180

116. THWA FAM: m, AT mg T A B A
Bl ww A Bomy >mp B
2l wit wm afa Fal @ o R A
afam #) o S w e f-faia
aw w e §, o e d s @
k4l

fa) A swgTE wfies gt aw w wi

by B FEaTe sl ol wow el

fo) A w0

(d) T T w@ A A g T
it . st gl

B-OEBB-N-HES/59A

117, o fgmaegm #f wad wnm

40000 km & #F T F I T
1700 km Wa 2021 8, ) 4T W PR H=
#m =0 w7

fal A

fb) 850 lam/hr

fgd 1700 km/hr

i} 3400 km/hr

118, 400 m & d9F & % o 80 mjs

e B Fahw FE f A arf =m b
aft g 10 m/s? TR I, @ O =
e 7% g § R wm e

o) 835

B 16 s

fe) 20 =

fdl 24 s

119, UF AEEA m 2w o g uEm T

it = e o ) P @ e A
1 P oo A 27

faj g% fm
b gjm®
fe g /m>

fdl g
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120, The electric feld inside a perfectly

conducting hollow object is
fal 4n

b} infinite

fe] zero

fd) dependent dpon the shape of
the object

121, The densities of three Houids are D,

2D and 3D, What will be the
density of the resulting mixture if
equal volumes of the three liquids
are mixed?

fa} &D
fb] 14D
fe) 2D

id} 3D

123, A particle is moving with uniform

acceleration along a straight line
ABC, where AB= BC. The average
velocity of the particle from A to Bis
10 m/= and from Bto Cis 15 m/s.
The average welocity for the whole
journey from A to Cin m/s is

fal 12
fb) 125
fe] 13

[ 135

B-DEBB-N-HEBS/59A
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123. The dimension of impulse’ is the

same as that of

fa) pressure

(B} angular mementum
fc) work

{d) linear momentum

124. Conszider the following statements -

1. China won both Thomas Cup
and Uber Cup Badminton
Tournaments, 2014,

2. The Uber Cup is the World
Team Championship for
women and the Thomas Cup
is for men.

Which of the statements gven
above isfare correct?

fa) 1 only

fb) 2 only

fel Both 1 and 2
fd] Meither | nor 2

125. Consider the following statements

about Drshéi system

1. Ttis a sophisticated instrument
to assess the runway wisual
FANZE.

2, This system i3 developed by
Airports Authority of India.

Which of the statements given
above is/are correct?

{aj 1 only

B 2 only

fe] Both 1 and 2

{d) Neither 1 nor 2
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120. fef o o ot s & e Tg 123. ‘v’ f fm = R A

L o) =AY
fa) 4m fb) i w6 R
fb) R g e

) TEEEmA Y
() TR

124, Prefefias sudt w fram i .

1, #7 § ufm w3 #h T w9
tgfires =, 2014, 391w

id) e St el m Fi B

121. ¥ 78 ¥ w7 D, 20 v 3p By 9R 2. = “‘tg:{ ;Mmm
f w % e s e e, At Mmtlziﬁmﬂl
oiend i @ o3 F0 #nT
: T o & & Fr-m/d bR
60
& fe) ¥=91
fb) 14D ) 2
¢} 2D o) 1 Em 2N
- ) ad a2
125. ‘g’ wonel & Wt # Feffe @ w
122, ®1f =0 TFR =T & W W@ far i
ABC % wgfem == o ¥, Wl AB= BC 1. W TR T W F e & e
%1 wm @ ol 3 AR BTF 10 m/s o aftegn I B
MBACTE 15 ms R AR O 2. oF WA vl SRR mieEm
A smimmF i M m/s T Tm faeftrm ol B
fa) 12 Frde e § @ FR-w/E w3
fa) F=E 1
w125
b} FEE 2
o 3 fe) 1 sl 2 36
fd) 135 PETRE R e
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126. Which of the following about

Malavath Poorma is correct?

ia} First Indian swimmer to cross
Suez Canal

fb) Youngest woman to  scale
Everest

{e}  First Indian to win FIDE World
Junior Championship

(d) Winner of Young Sclentist
Award, 2014

127. Which one among the following

countries wes the top contrbutor to
India’s FDI for the year 2013-147

faj Mauritius
)  Singapore
o USA

id) Japan

128. Which of the following statements

about SIMBEX 14 isfare correct?

1. Itwas a bilateral naval exercise
between Indian navy  asid
&ri Lankan navy.
it was the 21st in the aeries.

3. It was conducted in the
Andaman Sea,

Select the correct answer using the
code given below.

fal 1,2 and 3
4 2 and 3 only

fc) 2 only
fdl 1 and 3 only

B-OEBB-N-HBS/S9A
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129. Consider the following statements :

1. Mobile Seva, the National
Maobile Governance Initiative of
Department of Electronics and
Information  Technology of
India, has won the United
Nations Public Service Award,
2014,

2. The innovative initiative is
aimed at mainstreaming maobile
governance in the country,

Which of the statements given
above isfare correct?

fa} 1 only
B 2 only
fe) Both ) and 2

{d] Neither 1 nor 2

130. Consider the following statements

about Prithvi-1] Missile :

1. Itis a nuclear-capable ballistic
raissile.:

2, It has a maximum range of
100 lam. t

3. It is India’s first native made
ballistic’ missile,

Which of the statements given
above ig/are correct?

fal 1,2 and 3
(b} 1 enly
fef 1 and 3 only

fd] 2 and 3 anly
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126, @ T & a F Peiiem @
- w47

faf wuw vt o, R = T oW
#

b} TENE T S99 anfl @%d w3 &
wiE

{c) T W, B FIDE fig gfm
S S

(d) 2014 & FE ATEE qEER
[EELY

127, Pty § % F9-m = 9d 2013-14
% g % FoI 8 waifis dem d
7
ja) Hifm
{b) fimmge
M ﬂ"'n-qﬂ'o Ta
fd) =TH

128, SIMBEN 14 ¥ frm § Profafon @ 4
-8 e wE R

1. = Wl S wn s S
¥ mm vE fmedtn T snam
)

2, @ gEen i 21 W

3. a% svEAW wag § darfem Fem
|

% Rz o W= owEn w|ow o
L

faj 1, 233

b wEw 2 kA

fo) AT 2

fd) == 1 HR 3

B-OEBB-N-HES/S9A
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129. Selaftn wue o fam i

1. WEE ¥ R A gEe
dreifih fvm 6 o dage
afipres TEw, HEmE #=, 3
T T W A e e, 2014
s

2. @ FEEEEET TR WA AW
?fﬁWﬂmﬂm

Tefen el B Aoy w7

fa) ¥ 1

fly) e 2

fe) 13w 22

fd) adiamade

130. gt wévra & fam A Pt wa

ﬂ?ﬁlﬂﬂm

1. W v AihehE awm A ndfw
E R

o, YEEE A T 100 km B

3, Wg WA = 9pe 23 v R B
wiRE W R

TR WA § @ FewE i R
fa) 1,233
(B WEm 1
fo) FE1dm3 "
fd) w233
|B.T. 0O
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131. Consider the following statements

- about Indian Regional Navigation
Satellite System (IRNSS) ;

1. IRMSS is a constellation of five
satellites, which were launched
by PSLV.

2. It is an independent regicnal
navigation satellite  system
designed to provide position
information in the Indian
region,

Which of the statements given

above isfare correct?

&) 1 ocnly
b 2 only
fg/ Both 1 and 2

r‘d} MNeither 1 nor 2

132, The National Defence Academy has

foreign cadets from which of the
following countries?

1. Bhutan
2. Bangladesh
3. HNepal

4. Afghanistan

Select the correct answer using the
code given below,

faj 1,2, 3 and 4
fo) 1, 3 and 4 only
fc} 3 and 4 only

fd} 1 and 2 aniy

B-OEBB-N-HBS/594
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134. Who among the

133. From which one among the fallowing

countriea has India recently (May
2014) recalled its troops, who went
for a joint combatl exercise in the
country?

{a} Malaysia

{B} Thailand

fe)  Egvpt

fdf Singapore

following was
associated with the formulation of

the basic ideaz of the Mahoyaona
Buddhism?

fm] MNagarjuna
) Kashyapa Matanga
fe} Menander
(d) Kanishka

135, Consider the following statements

about Harsppan Culture :

1. The Harappan Culture
matured in Sind and Punjab,

2. It spread from there
Southwards and Eastwards.

3. The area, where it spread,
was bigger than Egypt and
Mezopotamia.

Which of the statements given
above isfare correct?

{al 1 and 2 only
/b 2 and 3 only
{cl 3 only

fd] 1,2 and 3
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131. " st Hae IR WO (IRNSS)
¥ fm 4 Pefefm s w fiem
i

1. IRNSS = gl # O0F W R,
firmm wiTw psLy g B omm
&

2 =g vwdEm i 4 BR gEn wWn
A & fom afisEm =9 il
e TaTe woel ¥

2w wudl 8§ F-aa w3y

fm) =1

b} FEE 2

fe) 13 23R

fd) AW s

132. TEE wn FErEd § ekl 4 @ fe
it % faeoft &2 da A7

1.

3%?‘%

2.
3.
4,
it Brom owe ow owm W owH oW
g

ja) 1,2, 3304

B a1, 3 W4

fe) e 3 a4

fel) FEE 1 3R 2

B-OEBB-N-HES/59A
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133, Prefaftm 4 o o 2w 8 ww 3 T

B # (o 2014) A WL S
W f Wy garam & R, aw
e feem?

ja) FEFEED
fb) =T
icj Frw

id) Fem

134, TH ¥ 2 "weER’ dewd F @ B ¥

fremm 4 g @7
fa) T

(B} W AT
fe) frien

jd) FEe

135. wew wepn & famm § Retfim sa w

fﬁ?ﬂtm:

1, wEe HeR o sl g § i
i

2. =@ # = o wn @ A o¥n
Ll

3. @ ow, w = v, fmoaw
Herirficn & =W

T Ful A @ BE-w 0 R
jz) WA 1 W2

fb) e 2 s 3

fo) AT 3

fdj 1,2 3 3

e o LEE S

reference. It May wvary the Original.
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136. Megasthenes was a 139. Who among the following did not
bring trading ships to the port of
faf Greek ambassador to the court Surat in pre-British times?

of Chandragupta Maurya

fb} Greek trader during Asheka's

sitivi fa) Portuguese and English

fc) Greek trader in the Gupta
period {b} Russian and German

{d} Chinese pilgrim during

Harsha's time fei  English and Arab

137. By the late 19th century, India was

one of the largest producers and fd) French and Arab
exporters of

o) cotten yarn and wheat
{b) sugar and rice
(e} sugar and alcohol

140. The Factory Act of 1891 in India was
fd) irom and stesl enacted to

138. Which one of the following is the

correct sequence of appearance of fel improve the condition of labour

the poet-saints of the Bhakti-Sufi in India

tradition?®

o} Basavanna—Appar [ enaure JreRSEgeromental
—Mira Bai—Lal Ded control over industry in India

b} Appar—Mira Bai

—Lal Dec—B
g f] provide a level playing field for

fc) Appar—Basavanna English manufacturers

=-Lal Ded—Mira Bai
{d] Basavanna--Mira Bai {d) enable greater political control
—Lal Ded—Appar over Indian industry

B-OEBB-N-HBES/59A 40
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136. TR ¥ @7 139, Prfofan 4 4 ¥ fiftn- = 8§ 2
=arll g e TR § e e 4
fa) =W A R R e T ;
b) T T w fa) e o siir
R L L
= = b} wet T A
i) e e A
fo) = T e
137. 104 Ml & moE # e e
w1 I oy Bl b ome {d) T T wE
fa) o T A
i) Eft war ==
140. wAd W 1891 W wEw@Er Al w6
fc) T G S o T
{d) wre wm sovm
fa) vmm & sfieel € 4 gun &
for
138. frefifien & 4 fw-m o wis-gh
e # afnfn Ff-a = owdl s
#r ) vm ® T e sl W
Fordam gfafiw = & fom

fa)  SEEE—ao—dETi—arees

foj A TRl & FemoweT ame

b} TR —aTEEa] I R & R

fe} OIS — e —iET

. jd) il e e s sl
{d) TRER—ET A et e W wk

B-OEDB-N-HBES /594 41 [P.T. O
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141. Which of the following statements is

correct?

{a) The Présiding Officer of the
Rajya Sabha is elected every
year

b} The Presiding Officer of the
Eajya Sabha is elected for a
term of 5 years

fey The Presiding Officer of the
Rajya Sabhe is elected for a
term of & years

{d] The Vice Presiden! of India is
the Ex Officio Presiding Officer
. of the Rajya Sabha

142. Who among the following was not a

member of the Drafiing Committes
of the Constitution of India?

fa} B. R. Ambedkar
{b} K. M. Munshi
fe Krishnaswamy lyer

{d M. K. Gandhi

143. Who among the following was not

a member of the Big Four' in the
Congress of Vienna (1815)?

fa) Great Britain
fb) Russia
fel  Austria

fd} France

B-OEBB-N-HES/59A

10

144. The Stamp Act Congress coneisting

of delegates from nine of the
thirteen colonies met in 1765 at

faj Philadelphia

{B) New Yorlk City

fc) Boston

{dj Providence

- 145. Which of the following American

colonies did not attend the firse
Continental Congress held in
Philadelphia?

(o} Rhode Island
b Connecticut
fe) Georgia

jd) Maryland

146. The Bolshevik Revolution started in

Russia during the reign of

fa) Czar Alexander |

(B Czar Alexander II

fo}  Czar Alexander 111

fd} Czar Nicholas [
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141, F=fafm # 4 she-m s wh 37 144, W TR wigm ), # dwEod oA
mfET & wRffim § e e o
ja) U= wW oW T ufrsd ofy 1765 # f5a we m few g7
o Fraffe g d
fa) FEemafEEm
fb) T e W diEnfe sfied 5
o1 srafls & fory Fraffem fm & b} =3
je) T wa w dtendE e 6 af e e
ot ) & o Fatfan dm g '
sy
{dj WWA W IEEAE T W W e i
drarm s T
145, Frefufien 4 8 By sl sofdm 3
142, 7 @ P v & s ) s R . LOVPU TR
T wEE b ar? i L
fa} o Mo sy I8} = uN
) ¥ wo Gl b T
fe) o fej
fd} T Fe T fd) s

143, Prefafim 3 @ ¥R fem w9em (1815 146. ¥9 3 FlE B G e i

i ‘T2 W e T wr FET

fa) iz firdm fa) W TS |

b} w=m ] WW EEEE
fe} il fc) AW SR I
fed} W jd) wm Frdtem o

B-OEBE-N-HBS/59A 43 [P T. 0O
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147. Which of the following isfare not

related to fundamental dutics?

1. Tocherish and follow the noble
ideals which inspired our
national struggle for freedom

2. To value and preserve the rich
heritage of our composite
culture

3. To promote the educational
and economic interests of the
weaker sections of the people,
especially the  Scheduled
Castes and Scheduled Tribes

4. To protect all monuments of
historic interest and national
impartance

Select the correct answer using the
code given below.

faj 1 and 2
b 2 and 3
fo} 3 and 4

fd} 4 only

148. Joint sittings of the two Houses of

Indian Parliament are held to
fa) elect the President of India
fb) elect the Vice President of india

fel  adopt a
Amendment Bill

Constitution

fd} consider and pasa a Bill on
which the two Houses disagree

B-OEBB-N-HBS/59A

+ 10

149. The President of India can issue

proclamation of Emergency

fa} on the advice of the Pome
Minister

(B} on the advice of the Council of
Minizters

{c} in hus own diseretion

fd) when the decision of the Union
Cabinet for  the dissue of
such proclamation has been
communicated to him in
writing

150. Which of the fllowing statements

isfare correct about the working

of the Permanent Scitlement in

Bengal?

1. The traditional Zamindars lost
their lands.

2. The reason for the Zamindars'
inability to pay up land
revenues was that the Ryots
defaulted on  payment  of
TEVETIME,

3. A pew group of farmers—the
Jotedars—became influential.

4. The Collector replaced the
Zamindars as the altermative
fociuis of authority.

Select the correct answer using the
code given below,

{a} 1 only
{B} 1 and 4 anly
fel 2 and 3 only

jd) 1,2 3 and 4
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147, Fefofiam & 4 sa-m/d <ifes wd=l @

et e Ry

1 B T e e w e
w0 I T A W dE
A T AT T

2. e it weply S ww i
oI W A A 3 ke wen

3. wAm % wwEn o, T

wigfen =l wam sl
arntat, ¥ fafis wn snids

feefi =1 g 3
4. Ufvofes & o e T %

aft = e

d% fan g W owm = oA W
|

fa} 1 32
fh) 233
fo} 33t
fd) F=e 4

148, WA ) we & 9N weA B wam dak

i, sifm & ah B9
fa) WA & T W PaElfe s &
fim,

{b) YRR & swm w it e S
ferm
fe) wHium gz falms & s

F1 &

() 3 Fades w fEn w9 o W
it =t % fom fm o 291w
% grE &

B-OEBB-N-HBES /59

=7 The Information Provided here is only

149, 9Wd I TEER AT o aEem

(o) W) 1 e T e
(b) w9 w R
fo) 2ot Rl o e

(d} 7= w1 wEm B, W= i g

= & fo w9 % vt = Pk
i ferfter w  wfm fem T @

150, @ma #§ wrdt 3Emm & w5 feg

# Fefeie 48 W/ e
#/87 '

1. T i § s o E Ay

2. wffErl T - g TR
= = wg o Y gm ea
sEredt & o kel oty

3. W W T T Tp—aieR—
TATER € T

4wt A e ks e d
wnflerl =t whvenfig == fim o

A fw o gz W omm oW A e
g

fa) 1
b A 14
;'ql Faw 2 ot 3

fdi 1,2, 3 %4

|P.T.O.
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. ¥ aEA T T # w-uEs § we & E) A vl § e TS T s w3

T W e wem o e @ o S ww d

. ol s F R oowe oflew gfEEn % oo 4 des )
10.

e Tt & P s

g -t # seiten ww fin m ooew T % e a R wmm)

(i) W= T % T wn dws T § IeiEn o v v % R B s mem & o we g
Fron fFn AR W UR-TETE Tm iR W A s |

(i} aft wef gecltem wm A afies aa dm b, R e e s e, TaR B A A ¥ o o wd
&, fe oft 70 om & frg wedeem @, 3 T W e fmoamm)

[#4i} Tf Ttz g =6 we T T e e §, sl sefeE g T o fen a d, @ om mmR E B
= Zoz At B =

WE W WOt 9 Wt giEeR SiEd w0 T EE WY A A A @il

Note : English version of the instructions is printed on the front cover of this Booklet,
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